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standard solution: bal bin tree
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standard solution: hashtable
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VEB qgqueue

VEBn

SZ, min, max



VEB qgqueue

VEBn

SZ, min, max

base case: 1 bit queue.

normal case:



VEB queue

VEB( |

SZ, mln max

base case: 1 bit queue. W= 2, fles bt vechr.

normal case:
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KVE Bn [ map

SZ, miﬂ, Mmax VEB(\/E) 0 1 2 3
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a|.size =0 then return false

else return
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KVE Bn [ map

Sz, min, max VEB(\/E)
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insert(i)
write i =a\/n—+Db
a.insert(b)

map.insert(a)



insert(i) what is the problem with this?
write i =ayn+Db
a.insert(b)

map.insert(a)



insert(i) what is the problem with this?
write i =avn+b
a.insert(b)
—»\map.insert(a)
how can we get around the problem of
inserting twice?

answer: LAZY inserts. how many times do we
need to insert into MAP?



insert(i)
write i =avn+b
If sz==0 then
else
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if size==0 return false

If I==min return true

else return
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